

County Distribution Detail Report through 02/02/2017

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,287	1,794	5	3,086	\$3,857.50	\$61.27	\$3,796.23	0.70	\$2,657.36
							Entity Total:		\$2,657.36
							Adjustment		\$0.00
							Total Amou	nt:	\$2,657.36
Readle									

Beadle

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	4,055	10,188	99	14,342	\$17,927.50	\$382.17	\$17,545.33	0.70	\$12,281.73
							Entity Total:		\$12,281.73
							Adjustment:		\$0.00
							Total Amoun	t:	\$12,281.73

Bennett

Reporting Period

Telecom Lines

Wireless Lines

VOIP

Total Lines

			Lines					Percent	
12/2016	960	1,095	3	2,058	\$2,572.50	\$51.32	\$2,521.18	0.70	\$1,764.83
							Entity Total:		\$1,764.83
							Adjustment:		\$0.00
							Total Amount:		\$1,764.83

Surcharge

Bon Homme

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	2,384	3,694	10	6,088	\$7,610.00	\$152.69	\$7,457.31	0.70	\$5,220.12

Entity Total:	\$5,220.12
Adjustment:	\$0.00

Entity

Entity Amount

Net Surcharge

Admin Fee

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	10,594	19,354	97	30,045	\$37,556.25	\$761.85	\$36,794.40	0.70	\$25,756.08
							Entity Total:		\$25,756.08
							Adjustment:		\$0.00
							Total Amour	nt:	\$25,756.08
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	11,805	25,361	118	37,284	\$46,605.00	\$964.78	\$45,640.22	0.70	\$31,948.15
							Entity Total:		\$31,948.15
							Adjustment:		\$0.00
							Total Amour	nt:	\$31,948.15
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	2,859	3,479	4	6,342	\$7,927.50	\$98.43	\$7,829.07	0.70	\$5,480.35
							Entity Total:		\$5,480.35
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,480.35
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	621	382	1	1,004	\$1,255.00	\$10.82	\$1,244.18	0.70	\$870.93
							Entity Total:		\$870.93
							Adjustment:		\$0.00
							Total Amour	nt:	\$870.93
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	2,839	5,974	16	8,829	\$11,036.25	\$230.14	\$10,806.11	0.70	\$7,564.28

							Entity Total:		\$7,564.28
							Adjustment:		\$0.00
							Total Amoun	t:	\$7,564.28
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	841	1,426	8	2,275	\$2,843.75	\$58.76	\$2,784.99	0.70	\$1,949.49
							Entity Total:		\$1,949.49
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,949.49
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	3,201	5,096	22	8,319	\$10,398.75	\$174.74	\$10,224.01	0.70	\$7,156.81
							Entity Total:		\$7,156.81
							Adjustment:		\$0.00
							Total Amoun	t:	\$7,156.81
City of Box Elder, M	leade Cc								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	63	1,660	0	1,723	\$2,153.75	\$45.00	\$2,108.75	0.70	\$1,476.13
							Entity Total:		\$1,476.13
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,476.13
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,201	2,261	130	3,592	\$4,490.00	\$104.73	\$4,385.27	0.70	\$3,069.69
							Entity Total:		\$3,069.69
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,069.69
City of Sioux Falls,	Lincoln								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Entity Total: \$21,246.66	2.30 2.30
Clark Reporting Period Telecom Lines Wireless Lines Lines VOIP Lines Lines Surcharge Admin Fee Net Surcharge Entity Percent Percent Entity Amout Percent 12/2016 1,649 2,444 8 4,101 \$5,126.25 \$108.68 \$5,017.57 0.70 \$3,512.32 Lines Lines Lines Lines Lines Adjustment: \$3,512.32 Lines	2.30 2.30
Reporting Period Telecom Lines Wireless Lines Lines VOIP Lines Total Lines Surcharge Admin Fee Admin Fee Admin Fee Percent Net Surcharge Period Percent Entity Amount Percent Percent 12/2016 1,649 2,444 8 4,101 \$5,126.25 \$108.68 \$5,017.57 0.70 \$3,512.37 Lines Lines Lines Lines Lines Finity Total: \$3,512.37 Lines Lines Lines Lines Lines \$108.68 \$5,017.57 0.70 \$3,512.37 Lines Lines Lines Lines Lines Lines Lines \$108.68 \$5,017.57 0.70 \$3,512.37 Lines Lines	2.30 2.30
Reporting Period Telecom Lines Wireless Lines VOIP Lines Total Lines Surcharge Admin Fee Net Surcharge Entity Percent Entity Amount 12/2016 1,649 2,444 8 4,101 \$5,126.25 \$108.68 \$5,017.57 0.70 \$3,512.3 Adjustment: Adjustment: \$0.0 Total Amount: \$3,512.3	2.30 2.30
Lines Percent 12/2016 1,649 2,444 8 4,101 \$5,126.25 \$108.68 \$5,017.57 0.70 \$3,512.3 Entity Total: \$3,512.3 Adjustment: \$0.0 Total Amount: \$3,512.3	2.30 2.30
Entity Total: \$3,512.3 Adjustment: \$0.0 Total Amount: \$3,512.3	2.30
Adjustment: \$0.0 Total Amount: \$3,512.3	.00
Total Amount: \$3,512.3	
	.30
Clay	
Reporting Period Telecom Lines Wireless Lines VOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Entity Amou Lines	ount
11/2016 0 1 0 1 \$1.25 \$0.00 \$1.25 0.70 \$0.0	88.03
12/2016 1,867 7,083 74 9,024 \$11,280.00 \$248.55 \$11,031.45 0.70 \$7,722.5	2.02
Entity Total: \$7,722.9	2.90
Adjustment: \$0.0	.00
Total Amount: \$7,722.9	.90
Codington	
Reporting Period Telecom Lines Wireless Lines VOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Entity Amou Lines	unt
12/2016 8,404 18,305 192 26,901 \$33,626.25 \$711.91 \$32,914.34 0.70 \$23,040.	0.04
Entity Total: \$23,040.0	0.04
Adjustment: \$0.0	.00
Total Amount: \$23,040.0	.04
Corson	
Reporting Period Telecom Lines Wireless Lines VOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Entity Amou Lines	ount
12/2016 358 502 4 864 \$1,080.00 \$22.83 \$1,057.17 0.70 \$740.	0.02
Entity Total: \$740.0	0.02
Adjustment: \$0.0	.00
Total Amount: \$740.0	.02
Custer	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	3,760	4,858	30	8,648	\$10,810.00	\$241.17	\$10,568.83	0.70	\$7,398.18
							Entity Total:		\$7,398.18
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$7,398.18
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2016	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2016	3,878	13,142	324	17,344	\$21,680.00	\$468.15	\$21,211.85	0.70	\$14,848.30
							Entity Total:		\$14,849.18
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$14,849.18
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,972	3,402	6	5,380	\$6,725.00	\$137.18	\$6,587.82	0.70	\$4,611.47
							Entity Total:		\$4,611.47
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$4,611.47
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	2,264	2,837	5	5,106	\$6,382.50	\$135.48	\$6,247.02	0.70	\$4,372.91
							Entity Total:		\$4,372.91
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$4,372.91
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,478	2,069	4	3,551	\$4,438.75	\$83.28	\$4,355.47	0.70	\$3,048.83
							Entity Total:		\$3,048.83

Adjustment:	\$0.00

Total Amount: \$3,048.83

Edmunds

12/2016

2,014

3,449

15

5,478

\$6,847.50

\$147.47

\$6,700.03

0.70

\$4,690.02

Lamanas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	966	2,728	9	3,703	\$4,628.75	\$92.69	\$4,536.06	0.70	\$3,175.24
							Entity Total:		\$3,175.24
							Adjustment		\$0.00
							Total Amou	nt:	\$3,175.24
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	3,551	3,926	11	7,488	\$9,360.00	\$188.80	\$9,171.20	0.70	\$6,419.84
							Entity Total:		\$6,419.84
							Adjustment		\$0.00
							Total Amou	nt:	\$6,419.84
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	54	1,355	4	1,413	\$1,766.25	\$35.40	\$1,730.85	0.70	\$1,211.60
							Entity Total:		\$1,211.60
							Adjustment		\$0.00
							Total Amou	nt:	\$1,211.60
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	2,689	5,036	152	7,877	\$9,846.25	\$218.90	\$9,627.35	0.70	\$6,739.15
							Entity Total:		\$6,739.15
							Adjustment		\$0.00
							Total Amou	nt:	\$6,739.15
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

							Adjustment:		\$0.00
							Total Amoun	nt:	\$4,690.02
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,103	1,354	5	2,462	\$3,077.50	\$61.57	\$3,015.93	0.70	\$2,111.15
							Entity Total:		\$2,111.15
							Adjustment:		\$0.00
							Total Amoun	nt:	\$2,111.15
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	2,056	3,499	6	5,561	\$6,951.25	\$139.13	\$6,812.12	0.70	\$4,768.48
							Entity Total:		\$4,768.48
							Adjustment:		\$0.00
							Total Amoun	nt:	\$4,768.48
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,082	2,623	11	3,716	\$4,645.00	\$108.43	\$4,536.57	0.70	\$3,175.60
							Entity Total:		\$3,175.60
							Adjustment:		\$0.00
							Total Amoun	nt:	\$3,175.60
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,077	2,914	18	4,009	\$5,011.25	\$101.24	\$4,910.01	0.70	\$3,437.01
							Entity Total:		\$3,437.01
							Adjustment:		\$0.00
							Total Amoun	nt:	\$3,437.01
Harding									

Entity Total:

\$4,690.02

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	643	827	1	1,471	\$1,838.75	\$36.80	\$1,801.95	0.70	\$1,261.37
							Entity Total:		\$1,261.37
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,261.37
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2016	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2016	4,815	14,166	270	19,251	\$24,063.75	\$507.95	\$23,555.80	0.70	\$16,489.06
							Entity Total:		\$16,491.69
							Adjustment:		\$0.00
							Total Amour	nt:	\$16,491.69
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	3,460	4,873	13	8,346	\$10,432.50	\$208.72	\$10,223.78	0.70	\$7,156.65
							Entity Total:		\$7,156.65
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,156.65
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	0	932	2	934	\$1,167.50	\$24.59	\$1,142.91	0.70	\$800.04
							Entity Total:		\$800.04
							Adjustment:		\$0.00
							Total Amour	nt:	\$800.04
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	714	787	7	1,508	\$1,885.00	\$43.81	\$1,841.19	0.70	\$1,288.83
							Entity Total:		\$1,288.83
							Adjustment:		\$0.00

Jeraulo	į
---------	---

ociaula									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	230	1,225	0	1,455	\$1,818.75	\$36.38	\$1,782.37	0.70	\$1,247.66
							Entity Total:		\$1,247.66
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,247.66
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	585	647	6	1,238	\$1,547.50	\$31.07	\$1,516.43	0.70	\$1,061.50
							Entity Total:		\$1,061.50
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,061.50
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,611	3,939	35	5,585	\$6,981.25	\$147.63	\$6,833.62	0.70	\$4,783.53
							Entity Total:		\$4,783.53
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,783.53
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	3,166	9,428	45	12,639	\$15,798.75	\$336.68	\$15,462.07	0.70	\$10,823.45
							Entity Total:		\$10,823.45
							Adjustment:		\$0.00
							Total Amour	nt:	\$10,823.45
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	8,958	15,300	107	24,365	\$30,456.25	\$634.64	\$29,821.61	0.70	\$20,875.13
							Entity Total:		\$20,875.13

Adjustment:	\$0.00
Total Amount:	\$20,875.13

Percent

. :	-			-
	m	CO	м	n

LITICOITI									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2016	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2016	4,691	20,455	1,152	26,298	\$32,872.50	\$777.95	\$32,094.55	0.70	\$22,466.19
							Entity Total:		\$22,468.82
							Adjustment:		\$0.00
							Total Amoun	t:	\$22,468.82
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,439	1,811	1	3,251	\$4,063.75	\$87.57	\$3,976.18	0.70	\$2,783.33
							Entity Total:		\$2,783.33
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,783.33
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	271	2,629	7	2,907	\$3,633.75	\$76.13	\$3,557.62	0.70	\$2,490.33
							Entity Total:		\$2,490.33
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,490.33
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	2,740	4,069	12	6,821	\$8,526.25	\$170.62	\$8,355.63	0.70	\$5,848.94
							Entity Total:		\$5,848.94
							Adjustment:		\$0.00
							Total Amoun	t:	\$5,848.94
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Lines

12/2016	1,186	1,528	1	2,715	\$3,393.75	\$81.45	\$3,312.30	0.70	\$2,318.61
							Entity Total:		\$2,318.61
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,318.61
Vleade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	4,210	16,074	254	20,538	\$25,672.50	\$545.65	\$25,126.85	0.70	\$17,588.80
							Entity Total:		\$17,588.80
							Adjustment:		\$0.00
							Total Amoun	t:	\$17,588.80
/lellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	647	629	81	1,357	\$1,696.25	\$47.74	\$1,648.51	0.70	\$1,153.96
							Entity Total:		\$1,153.96
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,153.96
liner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,131	1,494	148	2,773	\$3,466.25	\$85.26	\$3,380.99	0.70	\$2,366.69
							Entity Total:		\$2,366.69
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,366.69
/linnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2016	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2016	47,181	138,426	1,707	187,314	\$234,142.50	\$4,901.18	\$229,241.32	0.70	\$160,468.92
							Entity Total:		\$160,471.55
							Adjustment:		\$0.00

moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,576	4,347	18	5,941	\$7,426.25	\$147.89	\$7,278.36	0.70	\$5,094.85
							Entity Total	:	\$5,094.85
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,094.85
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2016	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2016	28,829	70,975	1,194	100,998	\$126,247.50	\$2,640.17	\$123,607.33	0.70	\$86,525.13
							Entity Total	:	\$86,526.01
							Adjustment	:	\$0.00
							Total Amou	nt:	\$86,526.01
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,796	2,354	5	4,155	\$5,193.75	\$103.89	\$5,089.86	0.70	\$3,562.90
							Entity Total	:	\$3,562.90
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,562.90
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	0	1,663	4	1,667	\$2,083.75	\$42.12	\$2,041.63	0.70	\$1,429.14
							Entity Total	:	\$1,429.14
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,429.14
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,283	4,472	5	5,760	\$7,200.00	\$146.38	\$7,053.62	0.70	\$4,937.53
							Entity Total	:	\$4,937.53

Adjustment:	\$0.00
Total Amount:	\$4,937.53

\$131.60

\$7.15

0.70

\$92.12

Total Amount: \$

Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	996	1,793	0	2,789	\$3,486.25	\$69.75	\$3,416.50	0.70	\$2,391.55
							Entity Total:		\$2,391.55
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,391.55
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	1,955	4,460	6	6,421	\$8,026.25	\$161.46	\$7,864.79	0.70	\$5,505.35
							Entity Total:		\$5,505.35
							Adjustment:		\$0.00
							Total Amount:		\$5,505.35
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	750	2,134	31	2,915	\$3,643.75	\$74.15	\$3,569.60	0.70	\$2,498.72
							Entity Total:		\$2,498.72
							Adjustment:		\$0.00
							Total Amount:		\$2,498.72
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	9	1,106	1	1,116	\$1,395.00	\$27.97	\$1,367.03	0.70	\$956.92
							Entity Total:		\$956.92
							Adjustment:		\$0.00
							Total Amount:		\$956.92
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

107

0

12/2016

111

\$138.75

							Adjustment	\$0.00	
							Total Amount:		\$92.12
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	2,853	3,700	17	6,570	\$8,212.50	\$164.70	\$8,047.80	0.70	\$5,633.46
							Entity Total:	:	\$5,633.46
							Adjustment	:	\$0.00
							Total Amount:		\$5,633.46
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	2,688	5,790	14	8,492	\$10,615.00	\$214.11	\$10,400.89	0.70	\$7,280.62
							Entity Total:	:	\$7,280.62
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,280.62
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	3,779	9,787	347	13,913	\$17,391.25	\$427.55	\$16,963.70	0.70	\$11,874.59
							Entity Total:	:	\$11,874.59
							Adjustment	:	\$0.00
							Total Amount:		\$11,874.59
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	167	3,506	13	3,686	\$4,607.50	\$94.26	\$4,513.24	0.70	\$3,159.27
							Entity Total:	:	\$3,159.27
							Adjustment:		\$0.00
							Total Amou	nt:	\$3,159.27
Yankton									

Entity Total:

\$92.12

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2016	6,163	14,642	99	20,904	\$26,130.00	\$537.26	\$25,592.74	0.70	\$17,914.92
							Entity Total:		\$17,914.92
							Adjustment:		\$0.00
							Total Amoun	t:	\$17,914.92
Totals	229,207	551,982	7,460	788,649	\$ 985,811.25	\$ 20,660.90	\$ 965,150.35		